O afag

Linear modules LM
LM 12 - LM 32

52 Handling technology HT Components linear afag.com



Table of contents: LM

Linear modules LM Page m

LM 12 | 55
LM 16 | 61
LM 20
LM 25
LM 32
Accessories LM m

afag.com Handling technology HT Components linear 53



54 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 12

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 55



Dimensions and dimension drawings

A 117 mm
B 107 mm
H 30 mm
p M5
min. 14.5 min. 12.5
14 60 12
N
| T —— T
\ F L — | b |
} éf ] ﬁ a < ﬁﬁ,i,i, ‘ | I l ©
| ﬁﬂf—f T L/ N €} r “7 N
o~ ‘ i T,m@ Y o — - ] -
= L $Jj‘r“%k H‘Jr“j I =
0 13
© e —
21 24
H A H
M4x6 6 @4H7/3.1 4x M5x8 2x Q6 M4x6
— é Dujjujn i T T ‘ T /
[ S N e R [ R e — Y. g
ST R, e —— e
g S T L I 1 N & 3
[ ] ~ & < ~ TL‘&
Moprrpee @t Tad— et 1
=] 1 T | ‘ L Il ‘ I N
A |
6 48 +0015 5 (SD M8x1-2)
5 B
AS 08/25 M5x12 P . _@OYHT21 AS 08/40
] S :
} b & & T I R
m j B o
L i

56 Handling technology HT Components linear

147 mm
137 mm
60 mm

M5

(4.5)

LM 12

177 mm
167 mm
90 mm

M5

afag.com



Technical data

LM 12

Attachment grid 20 x48 mm

Attachment thread M5

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 12 mm

Retract piston force 51N

Extend piston force 68 N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 pum

Order number 11010377 11010378 11010379
Stroke H 30 mm 60 mm 90 mm
Stroke limitation 20 mm 20 mm 20 mm
Net weight 0.31kg 0.34 kg 0.37 kg
Moving weight 0.13kg 0.16 kg 0.19kg
Air consumption/cycle 0.019 NL 0.038 NL 0.057 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.02 mm +/-0.02mm +/-0.02 mm
Mounting position - 4 +

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7
*QOptional 2 x 20 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Stop screw AS 08/25

= 1x Stop screw AS 08/40

Accessories

= Base plate LM 12 [p. 105]

= Stop L-bar LM 12/LM 16 [p. 105]
(Catalogue HT accessories)

= Adjusting stop pin M8x1/40

= Adjusting stop pin M8x1/25

= Stop screw AS 08/80

= Shock absorber SD M8x1 -2

= |NI d6.5x44-Sn1.5-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)
= NI d6.5x35-Sn1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

57



Preferred combinations LM 12

1 VP 105 2 1 VW 304
1 VP 105 2 1 VW 304
1 VW 304 2 1 VW 304
3 1 Vw305 1,2
1 VP 120 2 1 VW 304 1
1 VP 120 2 3 < direct > 1
1 VP 120 2 1 VW 305 1
3 VP 120 2
3 VP 105 2
3 VP 120 2
3 VF 409 2
3 VF 403 2
1,2 VP 105 2
1,2 VP 105 2
Mounting areas
CS, ES LM HM SA UG, GM, SG, DG, PG, GE, SGE
1
%1 1@1 3 @ [%1 5 2
2
PMP, PMP-c PEZ, PDZ PEL, PDL RM, RE CR, RM 32, RE, SREH, RA
3 3 3
e 1[0] <2 I ) | | ps s
3 2 2 2 2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

58 Handling technology HT Components linear afag.com



Module stresses LM 12
Type LM 12/30 LM 12/60 LM 12/90
Max. static torque Mx 5.6 Nm 5.6 Nm 5.6 Nm
Max. static torque My 9.6 Nm 9.6 Nm 9.6 Nm
Max. static torque Mz 9.6 Nm 9.6 Nm 9.6 Nm
Max. dynamic torque Mx 2.5Nm 2.5Nm 2.5Nm
Max. dynamic torque My 4.3 Nm 4.3 Nm 4.3 Nm
Max. dynamic torque Mz 4.3 Nm 4.3 Nm 4.3 Nm
Effective distance Wx 68 mm 68 mm 68 mm

LM 12/30 LM 12/60 LM 12/90

Maximum payload/type

Installation position (horizontal) for mounting side 1 0.5kg 0.5kg 0.5kg
Installation position (horizontal) for mounting side 3 0.5kg 0.5kg 0.5kg
Installation position (vertical) for mounting side 1 0.5kg 0.5kg 0.5kg
Installation position (vertical) for mounting side 3 0.5kg 0.5kg 0.5kg

Assembly sides
module mounting

horizontal: 3 vertical: 1

O

Operation time diagrams

Stroke time LM 12 with shock absorber Stroke time LM 12 without shock absorber

400 600
350 — 500 ]
300 B - P
250 ] a— 400 | ]
Z 200 /;/// E a0 |4 | e
= o —— 1
£ 150 — - E 200 [ - —
= 100 — ~0kg | F - 0k
4 —=-0,25kg 100 —=-025kg |
50 - 05kg —05kg
0 ‘ ‘ 0 | |
1520 30 40 50 60 70 8 90 1520 3 40 5 60 70 8 90

Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 59



60 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 16

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 61



o I W >

60

Dimensions and dimension drawings LM 16
122.5mm 152.5mm 182.5mm
104.5 mm 134.5mm 164.5 mm
30 mm 60 mm 90 mm
M5 M5 M5
min. 16.5 min. 15.5
60 15
— - H‘H
[0 i ;EEH
= e = I Rl
- Al 2 I e
13 o
21 24
A H
P
‘ @ 4H7/3.1 4x M5x8
1/ ,@ I &
o . 7\@@'};@ ‘JJ @
3 = 5 = _l @ i
@ N — M8x1
= r 4 @ a
R e
ofo
LL« (SD M8x1-2) 7
48+0.015 2x @8 P 16
B
AS 08/25 M6 P @ 9HT7/2.1 AS 08/40
|
r— |
= =y
‘ 1
Handling technology HT Components linear afag.com



Technical data

LM 16

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 16 mm

Retract piston force 104 N

Extend piston force 121N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 pum

Order number 11001864 11001865 11001866
Stroke H 30 mm 60 mm 90 mm
Stroke limitation 20 mm 20 mm 20 mm
Net weight 0.478 kg 0.515 kg 0.554 kg
Moving weight 0.138 kg 0.175kg 0.214 kg
Air consumption/cycle 0.036 NL 0.072 NL 0.108 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.02 mm +/-0.02mm +/-0.02 mm
Mounting position - 4 +

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7
*QOptional 2 x 20 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Stop screw AS 08/25

= 1x Stop screw AS 08/40

Accessories

= Base plate LM 16 [p. 105]

= Stop L-bar LM 12/LM 16 [p. 105]
(Catalogue HT accessories)

= Shock absorber SD M8x1 -2

= Stop screw AS 08/80

= INI d6.5x44-Sn1.5-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)
= NI d6.5x35-5n1.5-PNP-NO-M8x 1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

63



Preferred combinations LM 16

1 VP 127 2 1 VW 305 2
1 VP 120 2 1,3 VP 120 1,2
1 VS 501 2 1 VP 120
1 VS 501 2 1 VS 501
1 VS 501 2 1 VW 305 1,2
1 VP 117 2 1 VP 112 1
1 VS 501 2 1 VP 108 2
3 VP 106 2 1 VP 115 1,2
5w 1 B
3 VF 406 2 1 VW 305 1
3 VF 410 2
3 VS 501 2
1,3 VP 113 2
1,2 VP 117 2
1,2 VP 112 2
3 VP 117 2
3 VS 501 2
1 < direct > 2
1 < direct > 2
1 < direct > 2
1 < direct > 2
1 < direct > 2
Mounting areas
CS, ES LM HM SA UG, GM, SG, DG, PG, GE, SGE
1
2
PMP, PMP-c PEZ, PDZ PEL, PDL RM, RE CR, RM 32, RE, SREH, RA
3 3 3
o) er=Toh | T——m | 'Lps3 L1
3 2 2 2 2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

64 Handling technology HT Components linear afag.com



Module stresses LM 16

LM 16/30 LM 16/60 LM 16/90

Max. static torque Mx 11 Nm 11 Nm 11 Nm
Max. static torque My 18 Nm 18 Nm 18 Nm
Max. static torque Mz 18 Nm 18 Nm 18 Nm
Max. dynamic torque Mx 5Nm 5Nm 5Nm
Max. dynamic torque My 8 Nm 8 Nm 8 Nm
Max. dynamic torque Mz 8 Nm 8 Nm 8 Nm
Effective distance Wx 71 mm 71 mm 71 mm

Maximum payload/type LM 16/30 LM 16/60 LM 16/90
Installation position (horizontal) for mounting side 1 1kg 1kg 0.8kg
Installation position (horizontal) for mounting side 3 1kg 1kg 0.8kg
Installation position (vertical) for mounting side 1 1kg 1kg 0.8kg
Installation position (vertical) for mounting side 3 1kg 1kg 0.8 kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

Operation time diagrams

Stroke time LM 16 with shock absorber Stroke time LM 16 without shock absorber
600 1000
I I I I
50 |+ 0kg 900 = 4 0kg I
—=05kg L 800 |~ = 05kg —
400 | —a1kg ] 700 {— —+1kg - ——
- — ] . 600 1
g 300 / | g 500 /"/ "
= |/
o 1 R S o 400 L — 4 /
£ 200  ——¢+ | E 20 —
- | 1 =
100 200
100
0 0
15 20 30 40 50 60 70 80 90 15 20 30 40 50 60 70 80 90
Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 65



66 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 20

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 67



Dimensions and dimension drawings LM 20
A 140 mm 200 mm 260 mm 320 mm 380 mm 480 mm
B 129 mm 189 mm 249 mm 309 mm 369 mm 469 mm
C 50 mm 79 mm 109 mm 139 mm 169 mm 219 mm
D 80 mm 110 mm 140 mm 170 mm 200 mm 250 mm
E 1 1 2 2 3 4
F 212 mm 272 mm 332 mm 392 mm 452 mm 552 mm
G 10 mm 24 mm
H 30 mm 60 mm 90 mm 120 mm 150 mm 200 mm
P M5 M5 M5 M5 M5 M5
min.12.5 D min. 10.5
iz - - 6 0, |
P gl P
= R & B —
E 15— Yy 1*;53% N
I= — ki i I i ]
__F L — F‘AL «—i d Hl\ \1‘ JM EB} ;:Er,,,
M6/14 @ 9H7/2.1 h
c 15
H A
F 48
6 B 5 SD M14x1-1 P 115
M5x10/14 | @ 9HT7/2.1 =)
&' O & ! — —] ] oY=
i ;- 5 %
= | == e @ o] =2s
< ~ &l ﬁ ~ 7? 777777 — =4 $ g}é: y]\:
o—& v & 5l 2@ 9H7I2.1 /@Z ‘ S
] N2 N2 N2 ™ V6 ) il
bto i / | AT
E x 4820015 | G E x 4820015 25 XD 12 M6x13 AS 08/40 P20 28
68 Handling technology HT Components linear afag.com



Technical data

Attachment grid
Attachment thread
Operating pressure

Air connection P
Cylinder @

Retract piston force
Extend piston force
Operating temperature
Storage temperature
Humidity

Medium filtered compressed air

Order number

11001720 11001645 11001646

LM 20

48 x 48 mm
M6

6 +/- 2 bar
M5

20 mm
140 N
172N
0-50°C
0-50°C
<90 %
10-40 pm

11001648 11009043

Stroke H

Stroke limitation

Net weight

Moving weight

Air consumption/cycle
Noise level

Repeat accuracy

Number of interim attachments

Damping travel
Mounting position

60 mm 90 mm

2 x25mm 2 x25mm 2x25mm
1.28 kg 1.55kg 1.82 kg
0.71 kg 0.84 kg 0.97 kg
0.065 NL 0.125NL 0.19 NL

65 dB (A) 65 dB (A) 65 dB (A)
+/-0.01mm +/-0.01mm +/-0.01 mm

1 1

15 mm 15 mm
<-:-> <-:->

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 08/40

= 2x Shock absorber SD M14x1 -1

Accessories

= Base plate LM 20/LM 25 [p. 106]

= 3. Position LM 20 [p. 106]

= |Intermediate stop ZA 20/25 [p. 108]
(Catalogue HT accessories)

= Stop screw AS 08/80

= Stop screw AS 08/25

= NI d6.5x44-Sn1.5-PNP-NO-M8x1

150 mm 200 mm

2 x25mm 2 x25mm
2.372 kg 2.82 kg
1.23kg 1.44 kg
0.32 NL 0.43 NL

65 dB (A) 65 dB (A)
+/-0.02 mm +/-0.02 mm
1 1

15 mm 15 mm
Iy Iy

- -

v v

Alternative accessories
(Catalogue HT accessories)
= NI d6.5x35-5n1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear



Preferred combinations LM 20

1 VP 122 2 1 VP 112 2
1 VP 122 2 1 VP 115 2
1 < direct > 2 1,2 VP 112 2
1 < direct > 2 1 VP 120 2
1 VP 146 2 1 VS 501 2
1 VP 146 2 1 VP 122 2
3 VF 410 2 1 VP 112 1,2
1,3 VP 113 2 1 < direct > 1
1,3  VP119 2 1 Vw302 2
1,2 VP112 2 133 \\//VSV53%62 ;
° VP 2 1 VS 507 1
1 < direct > 2 1 VW 302 2
1 < direct > 2 3 VW 302 1
1 <direct> 2 1,3 VP 120 1,2
1 <direct> 2 1 VP 150 1,2
1 <direct> 2 1 VP 105 1,2
1 <direct> 2 1 VP 115 1,2
1 < direct > 2 1 VP 115 1,2
1,3 VP 128 1
1,3 <direct> 1
1,3 <direct> 1
1 VP 112 2
1 VP 117 3
1 VP 112 1
1 VP 150 2
Mounting areas
CS, ES LM HM SA UG, GM, SG, DG, PG, GE, SGE
1
2
PMP, PMP-c PEZ, PDZ PEL, PDL RM, RE CR, RM 32, RE, SREH, RA
3 3 3
) e En | = | D3 INE
2 2 2 2 2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

70 Handling technology HT Components linear afag.com



Module stresses

LM 20/30 LM 20/60

LM 20

LM 20/90 LM 20/120 LM 20/150 LM 20/200

Max. static torque Mx 11 Nm 11 Nm 11 Nm 11 Nm 11 Nm 11 Nm
Max. static torque My 11 Nm 17 Nm 23 Nm 29 Nm 35Nm 45 Nm
Max. static torque Mz 11 Nm 17 Nm 23 Nm 29 Nm 35Nm 45 Nm
Max. dynamic torque Mx 3 Nm 3 Nm 3 Nm 3 Nm 3 Nm 3 Nm
Max. dynamic torque My 5Nm 8Nm 10 Nm 13Nm 16 Nm 20 Nm
Max. dynamic torque Mz 5Nm 8 Nm 10 Nm 13 Nm 16 Nm 20 Nm
Effective distance Wx 80 mm 110 mm 140 mm 170 mm 200 mm 250 mm

Maximum payload/type

Installation position (horizontal)

LM 20/30 LM 20/60

LM 20/90 LM 20/120 LM 20/150 LM 20/200

for mounting side 1 8kg 7k >k 4k 3k 2k
Ir:zcjlr:::(;ns%c;s;tion (vertical) for 8kg 7kg 5 kg 4kg 3kg 2 kg
'nrlff:fﬂc;ns.%?'; o trertcter 8kg 7kg 5kg 4kg 3kg 2kg
Assembly sides horizontal: 3 vertical: 1
module mounting 1 D:':H:I 1

3

1

Operation time diagrams

Stroke time LM 20 with shock absorber

350
330
310
290 —— 4
5 270 — =
£ " 1
g 20 T -0k ]|
£ 230 - — = 2kg
= 210 — _ - 4kg |
10 T 6kg
170 = m 8kg -
150
25 50 100 150 200
Stroke [mm]

afag.com

Handling technology HT Components linear

71



72 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 25

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 73



Dimensions and dimension drawings

LM 25
322.5mm 482.5 mm
309 mm 469 mm
140 mm 220 mm
170 mm 250 mm
2 4
397.5mm 557.5mm
120 mm 200 mm
G1/8" G1/8"
68
2X@OH7/2.1 115

A 202.5mm
B 189 mm
C 80 mm
D 110 mm
E 1
F 277.5mm
H 60 mm
p G1/8"
min. 15.5 D min. 12.5
15 = = 5 12
<
P =] P
1 [ [ B O ——
TR & &l i !
i }L::? f’:;:: “4‘7‘ _
\ | .
=g i o
BN ===
oL =T h T I e
== T T N s e = = T~
Lo 57 Eota—] JTL JT;L —— S T
. H A
F
75 | B 6 SD M14x1-1
‘ M6x14 @ 9H7/21 5
I [m 7 ‘ WFTTH‘ — .
oo w1 —ff]
T
’:$ T ¢ 1 T I
£l o g — 1 g
ERIRCN — &
S e e e = <
L& 1 0 o ——m
A 2 4
@ Jg?\‘lfl’:i’””"Trg&’*"”’ii’!i?"
O \ oo
7 E x 4840015 M5x10/14 2x @16 | | M6x13 AS 08/40 2x @5H7
P
2x @9H7/2.1

4x M5
60

@ 4H7/3.1

M6

74 Handling technology HT Components linear

afag.com



Technical data

Attachment grid
Attachment thread
Operating pressure

Air connection P
Cylinder @

Retract piston force
Extend piston force
Operating temperature
Storage temperature
Humidity

Medium filtered compressed air

Order number

LM 25

48 x 48 mm
M6

6 +/- 2 bar
G1/8 "

25 mm
265N
295N
0-50°C
0-50°C
<90 %
10-40 pm

11011895 11011896 11011897

Stroke H

Stroke limitation

Net weight

Moving weight

Air consumption/cycle
Noise level

Repeat accuracy
Mounting position

60 mm 120 mm 200 mm
2x25 mm 2x25 mm 2x25 mm
1.965 kg 2.821kg 3.944 kg
0.99 kg 1.43kg 2.01kg
0.164 NL 0.33NL 0.55 NL

65 dB (A) 65 dB (A) 65 dB (A)
+/-0.01Tmm +/-0.02mm +/-0.02 mm

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 08/40

= 2x Shock absorber SD M14x1 -1

":" <-:-> «:—»
Accessories Alternative accessories
= Base plate LM 20/LM 25 [p. 106] (Catalogue HT accessories)
= 3. Position LM 25 [p. 107] = NI d6.5x35-Sn1.5-PNP-NO-M8x1

= |ntermediate stop ZA 20/25 [p. 108]

(Catalogue HT accessories)
= INI d6.5x44-5n1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

75



Preferred combinations LM 25

1 < direct > 2 1 VP 115 2
1 < direct > 2 1 < direct > 2
1 VP 146 2 1 VP 120 2
1,3 VP 113 2 1 VS 501 2
1,3 VP 119 2 1 < direct > 2
3 VP 118 2 1 < direct > 2
3 VP 119 2 1 VP 112 1,2
3 VP 146 2 1 < direct > 1
1 < direct > 2 ! Y02 2
1 < direct > 5 1 < direct > 1
1 < direct > 2 1 \>/\/SV53%62 ;
1 < direct > 2 3 VW 302 1
1 < direct > 2 1 VS 507 1
1 VW 302 2
3 VW 302 1
1 VS 507 1
1 VW 302 2
3 VW 302 1
1 VP 115 1,2
1 VP 115 1,2
1,3 <direct> 1
1,3 <direct> 1
1 VP 112 2
1 VP 117 3
1 VP 117 3
1 VP 112 1
1 VP 150 2
Mounting areas
CS, ES LM HM SA UG, GM, SG, DG, PG, GE, SGE
1
%1 1@:@ 3 @ [%1 5 2
2
PMP, PMP-c PEZ, PDZ PEL, PDL RM, RE CR, RM 32, RE, SREH, RA
3 3 3
o eI =Toh | T —T | s 1L
3 2 2 2 2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

76 Handling technology HT Components linear afag.com



Module stresses LM 25

Type LM 25/60 LM 25/120 LM 25/200
Max. static torque Mx 8Nm 8 Nm 8 Nm
Max. static torque My 20 Nm 35Nm 55Nm
Max. static torque Mz 20 Nm 35Nm 55Nm
Max. dynamic torque Mx 4 Nm 4 Nm 4 Nm
Max. dynamic torque My 9 Nm 16 Nm 25Nm
Max. dynamic torque Mz 9 Nm 16 Nm 25Nm
Effective distance Wx 85 mm 115 mm 145 mm

Qg
Nam

Maximum payload/type LM 25/60 LM 25/120 LM 25/200

Installation position (horizontal) for mounting side 1 9kg 6 kg 4kg
Installation position (horizontal) for mounting side 3 9kg 6 kg 4kg
Installation position (vertical) for mounting side 1 9kg 6 kg 4kg
Installation position (vertical) for mounting side 3 9kg 6 kg 4kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

—_
w

Operation time diagrams

Stroke time LM 25 with shock absorber

500 T

450 |+ -+ 0kg

400 + = 4kg

350 [ —*6kg e
_ 300 + 9% =
£ 250 2 -
g 200 ] —
£ 150 —r //

100 [ —

50

0

25 50 100 150 200
Stroke [mm]

afag.com Handling technology HT Components linear 77



78 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 32

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 79



Dimensions and dimension drawings LM 32
A 360 mm 560 mm 760 mm 960 mm
B 226 mm 326 mm 426 mm 526 mm
D 140 mm 240 mm 340 mm 440 mm
E 2 4 6 8
F 365 mm 565 mm 765 mm 965 mm
H 100 mm 200 mm 300 mm 400 mm
P G1/8" G1/8" G1/8" G1/8"
min.16
15 B min.16
10 B-20 | 15 o F
\ 3
- - & =
— = S 1 o B = = “ gD
| D e e N = | — (R
Tl ] °® @ *@E@
R T = HoE
- o o ® 2 [ e
W EEE (s g s B 1] i RO
- % | R L o
~l75 M6x12 |13 Méx17 | 20| 2x620 75 480015
65 Ex 48:0,015‘ @ 9H7/2.1 60
H A (66)
o 7 SDMi4x1-1 P o P AS 12/60
=g &
SeloE=rtd FY el
5 7€ ‘7'5 \j tJ ¢ g 1
L 9 Ty R O ‘
1 e 55 ®—  EE
S 10| |18
>
2 43 D
F
80 Handling technology HT Components linear afag.com



Technical data

LM 32

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P G1/8"

Cylinder @ 32 mm

Retract piston force 295N

Extend piston force 295N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 pum

Order number 11001558 11001559 11001561 11001562

Stroke H 100 mm 200 mm 300 mm 400 mm

Stroke limitation 2 x40 mm 2 x40 mm 2 x40 mm 2 x40 mm

Net weight 4 kg 5.4 kg 6.6 kg 7.9kg

Moving weight 1.81kg 2.29kg 2.79kg 3.28 kg

Air consumption/cycle 0.4 NL 0.8 NL 1.2 NL 1.6 NL

Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)

Repeat accuracy +/-0.01mm +/-0.01mm +/-0.02mm +/-0.02 mm
& N & N

Mounting position

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 12/60

= 2x Shock absorber SD M14x1 -1

Accessories

(Catalogue HT accessories)
= INI d6.5x44-5n1.5-PNP-NO-M8x1

¥

¥

Alternative accessories

12

12

(Catalogue HT accessories)
= NI d6.5x35-Sn1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

81



Preferred combinations

1 VP 146 2 1

1,3 VP 119 2 1

3 VP 118 2 1

3 VP 118 2 1

1 < direct > 2 1

1 <direct > 2 1

1 < direct > 2 1

1

1

1

1

1

1

1

1

1

1

* Not for LM 32/100 1

Mounting areas
CS, ES LM Hl}/l SA
PMP, PMP-c PEZ, PDZ PEL, 2PDL RM, RE
3 3 3
— 1 3
a @1 OIS foh | I g]

Note that there might be different mounting positions from one module to another one.

VP 112
VP 145
< direct >
< direct >
< direct >
< direct >

< direct >
VP 117

< direct >
VW 302

< direct >
< direct >
VP 115
VP 115
VP 130

< direct >
VP 131

VP 117

LM 32

UG, GM, SG, DG, PG, GE, SGE

21 f

3

CR, RM 32, RE, SREH, RA

1[5
2

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

82 Handling technology HT Components linear

afag.com



Module stresses LM 32
Type LM 32/100 LM 32/200 LM 32/300 LM 32/400
Max. static torque Mx 12 Nm 12 Nm 12 Nm 12 Nm
Max. static torque My 95 Nm 127 Nm 158 Nm 190 Nm
Max. static torque Mz 95 Nm 127 Nm 158 Nm 190 Nm
Max. dynamic torque Mx 5Nm 5Nm 5Nm 5Nm
Max. dynamic torque My 43 Nm 57 Nm 71 Nm 85Nm
Max. dynamic torque Mz 43 Nm 57 Nm 71 Nm 85 Nm
Effective distance Wx 311 mm 4171 mm 511 mm 611 mm

My

Y

X@MX

Maximum payload/type LM 32/100 LM 32/200 LM 32/300 LM 32/400
Installation position (horizontal) for mounting side 1 10 kg 9kg 7 kg 5kg
Installation position (horizontal) for mounting side 3 10 kg 9kg 7 kg 5kg
Installation position (vertical) for mounting side 1 10 kg 9kg 7 kg 5kg
Installation position (vertical) for mounting side 3 10 kg 9 kg 7 kg 5kg

Assembly sides
module mounting

horizontal: 3 vertical:

O

1

3
1
Operation time diagrams

Stroke time LM 32 with shock absorber

650 ‘ ‘
600 - —e6ky & 10kg
550 |- = 8kg — 1
500 ——
= 450 —] T
= a0 — —
o . —
£ om0 —] 4k
= —h—
300 ——— — g
250 — —-0kg —
200 ‘
100 150 200 250 300 350 400
Stroke [mm]
afag.com

Handling technology HT Components linear

83



Accessories LM LM 12 /LM 16

Base plate LM 12 LM 12/30 LM 12/60 LM 12/90
Order number 11010371 11010372 11010373
Net weight 0.1kg 0.13 kg 0.16 kg
A 117 mm 147 mm 177 mm
B 112 mm 142 mm 172 mm
C 106 mm 136 mm 166 mm
+0.007
D4 5000 w4
© [l ] © -
#H g g[ S
<t| #H N
© q 1
C
B
A

LM 12/30/ LM 12/60/ LM 12/90/

ALt LB AT A LM 16/30 LM 16/60 LM 16/90

Order number 11001880 11001884 11001887
Net weight 0.08 kg 0.1kg 0.12 kg
A 117 mm 147 mm 177 mm

20
14

M8x1 : =
] v o) k [

24E JH.M J_Lﬁ

45

21 24
Base plate LM 16 LM 16/30 LM 16/60 LM 16/90
Order number 11001437 11001442 11001445
Net weight 0.21 kg 0.28 kg 0.32 kg
A 122.5mm 152.5mm 182.5mm
B 104.5 mm 134.5 mm 164.5 mm

@ 9h6

10
2

84 Handling technology HT Components linear afag.com



Accessories LM LM 20 / LM 25

3. Position LM 20 m

Order number 11001623
Net weight 0.45 kg

A 24 mm

B extended
C retracted

AS 08/40 3. Pos

40

70

LM 20
LM 32

SD 14/16

x I

7 L 49 |

Note: Requirement: Module combination LM 32 with LM 20

Purpose: Various removal and application heights can be covered between the retracted and extended states.
Stroke difference grading: Standard = 10 mm

1 additional plate = +10 mm

Max. 3 additional plates possible

*LM 20/30 = 14 mm

Inlcuded in the delivery
(Catalogue HT accessories)

= 1x Stop carrier

= 1x Contact plate

= 1x Intermediate contact plate

= 1x Shock absorber SD M14x1 -1
= 1x Stop screw AS 08/40

Intermediate contact plate

Order number 11001613
Net weight 0.137 kg

LM 20/60 / LM 20/120 / LM 20/200 /
Base plate LM 20 / LM 25 LM 20/30 LM 25/60 LM 20/90 LM 25/120 LM 20/150 LM 25/200
Order number 11001619 11001624 11001626 11001628 11001630 11009423
Net weight 0.25kg 0.35kg 0.44 kg 0.54 kg 0.64 kg 0.85 kg
A 140.8 mm 200.8 mm 260.8 mm 320.8 mm 380.8 mm 480.8 mm
B 129 mm 189 mm 249 mm 309 mm 369 mm 469 mm

SF,E

afag.com Handling technology HT Components linear 85



Accessories LM LM 25

Order number 11013401
Net weight 0.45kg
A 40 mm

3.Pos

AS 08/80

AS 08/80 LM25 i

AS 08/80
) il M32 1 ‘ ‘
/ —

<1 o
R

== | m -

10

SD M14x1-1

om.

O,
%
9

=
&
A
A+

Note: Requirement: Module combination LM 32 with LM 25

Purpose: Various removal and application heights can be covered between the retracted and extended states.
Stroke difference grading: Standard = 10 mm

1 additional plate = +10 mm

Max. 3 additional plates possible

Inlcuded in the delivery
(Catalogue HT accessories)
= 1x Stop carrier

= 1x Contact plate

= 1x Intermediate contact plate

= 1x Shock absorber SD M14x1 -1
= 1x Stop screw AS 08/40

86 Handling technology HT Components linear afag.com



Accessories LM ZA 20/25
Order number 11011366

Net weight 0.3kg

Weight, stop 0.03 kg

Air consumption/stroke 0.01 NL

Repeat accuracy +/-0.02 mm

A ZA retracted (front)”

B ZA extended (rear)

C Shock absorber damped

D Stop screw

Proximity switch (left or right)
depending on SD installation

E M5
o e B
A\\@\ B - :

- B
- i . 8 3 @

Il

|

|

|
|

[ 1)

.

59

Bz:;:i%
S8

@O PO ® o ;
N~
- Nes o f=EEe—
—=————D. @ SRS ~ H
= . |
54
19 32 E
42 60
. Proximity switches
The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Inlcuded in the delivery Accessories

= Base plate ZA LM 20/LM 25 [p. ]
= INI d6.5x44-Sn1.5-PNP-NO-M8x1 [p. ]

(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Mounting screw M5x12

= 2x Mounting screw M5x16

= 1x Stop screw ZA20/25

= 1x Shock absorber SD M14x1 -1

afag.com

M6x0.75

Handling technology HT Components linear

87



Assembly example ZA 20/25

The intermediate stop can be installed acting forwards as well as backwards on the base plate ZA due to the symmetrical
structure. Depending on how the base plate is installed, the intermediate stop can be fitted to the right or the left of the
module. The head side of the stop screw is always oriented against the shock absorber. The base plate ZA and the stop
serve for continuous intermediate position adjustment. The stop screw is fitted in the bore on the module slide and the
intermediate stop is screwed into the desired position on the base plate.

With the intermediate stop, you can limit the extension or retraction stroke with an intermediate position.

ZA extended (rear)
Position SD

ZA retracted (front)
Base plate

Stop screw

A
B
C
D
E
F

Intermediate stop

|
1=
122

~110

i
I 1]
A
444ﬁ444
|
|
o
Tf
%ﬁ;%ﬁ
thE
ﬂ:’LL
Tl
L]
i
92

ZA 20125 - LM 20

| Q ©
w

&
M6x0.75

ZA20/25 - LM 25
[ &_© © © © cipeosesd—
E=== f Ee=HoE— B 6 ——

M

Ji
=
|
i
|
|
|
78

73

M6x0.75
3

56.6
@
m,

[T ITIT1T
\

@

475

57

88 Handling technology HT Components linear afag.com



Accessories LM LM 20 / LM 25

LM 20/60 LM 20/120 LM 20/200 m
Base plate ZA LM 20 / LM 25 LM 25/60 LM 20/90 LM 25/120 LM 20/150 LM 25/200
Order number 11011031 11011033 11011033 11011034 11011035
Net weight 0.34 kg 0.43 kg 0.53 kg 0.63 kg 0.84 kg
Number of interim attachments 1 1 1 1 1
A 200.8 mm 260.8 mm 320.8 mm 380.8 mm 480.8 mm
B 189 mm 249 mm 309 mm 369 mm 469 mm
C 25.4 mm 40.4 mm 55.4 mm 70.4 mm 90.4 mm
D 5 6 7 8 10
Dx30
10 C 30 0015

60
48 0015

r
‘*7
M
@ 9h6

59 B

M5 x 11/15
@ 9H7/2.1

Note: No ZA is provided for the LM 20/30

afag.com Handling technology HT Components linear 89



Accessories LM

ZA 32

Order number 11009325

Net weight 0.574 kg

A ZA retracted (bottom)”
B ZA extended (top)”

C Shock absorber damped
H 15 mm

P M5

86

42.5
50
55 30
e ‘ o
,,,,, T _ <
it
L_LL
i
6.4
2104
. Proximity switches
The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: A back or front stop rod, depending on the place of installation, must also be ordered.
*Proximity switch (optional)
Inlcuded in the delivery Accessories
(Catalogue HT accessories) = Back stop rod ZA 32 [p. 114]
= 2x Mounting screw M6x45 = Front stop rod ZA 32 [p. 113]

= 1x Shock absorber SD M14x1 -1

= Narrow safety cover ZA 32 [p. 114]

= 2x Clamping nut M8x0.75 = Wide safety cover ZA 32 [p. 113]

(Catalogue HT accessories)
= NI d6.5x44-Sn1.5-PNP-NO-M8x 1

90 Handling technology HT Components linear

afag.com



Assembly example ZA 32

Should the ZA 32 be mounted up front to the LM 32 no extra safety cover is required. Mounted in the back depending on
either one or both sides a «narrow» or «wide» cover is necessary. The covers have to be ordered seperately.

The stop rods are needed for a continuous adjustability of the intermediate positions. It is recommended to always use the
shortest possible stop rod.

Type ZA 32/125 ZA 32/200 ZA 32/275
A 125 mm 200 mm 275 mm

pd

84

afag.com Handling technology HT Components linear 91



Accessories LM ZA 32
Front stop rod ZA 32 ZA 32/125 ZA 32/200 ZA 32/275
Order number 11010462 11010463 11010464
Net weight 0.139kg 0.185kg 0.23 kg
LM 32/100

Sutablefor 32200 IS0 LM 301300
LM 32/300 LM 32/400 LM 32/400
LM 32/400

A 125 mm 200 mm 275 mm

B 95 mm 95 mm 95 mm

SW 13 mm 13 mm 13 mm

8
24

Inlcuded in the delivery
(Catalogue HT accessories)
= 2 Mounting screw M6x25
= 1x Nut M10x1 for ZA 32
Wide safety cover ZA 32 ZA 32/100 ZA 32/200 ZA 32/300 ZA 32/400
Order number 11010473 11010472 11010471 11010470
Net weight 0.82 kg 0.63 kg 0.445 kg 0.26 kg
Suitable for LM 32/100 LM 32/200 LM 32/300 LM 32/400
A 139 mm 239 mm 339 mm 439 mm
B 89 mm 89 mm 89 mm 89 mm
C 148 mm 148 mm 148 mm 148 mm

o
A N c ﬂ

92 Handling technology HT Components linear

afag.com



Accessories LM ZA 32

Back stop rod ZA 32 ZA 32/125 ZA 32/200 ZA 32/275 m
Order number 11009326 11009327 11009328
Net weight 0.15kg 0.196 kg 0.241 kg
LM 32/100
LM 32/300 LM 32/400 LM 32/400
LM 32/400
125 mm 200 mm 275 mm
B 95 mm 95 mm 95 mm
SW 13 mm 13 mm 13 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2 Mounting screw M6x25

= 1x Nut M10x1 for ZA 32

Narrow safety cover ZA 32 ZA 32/100 ZA 32/200 ZA32/300 ZA 32/400
Order number 11010466 11010467 11010468 11010469
Net weight 0.22 kg 0.375kg 0.53kg 0.69 kg
Suitable for LM 32/100 LM 32/200 LM 32/300 LM 32/400
A 139 mm 239 mm 339 mm 439 mm

B 89 mm 89 mm 89 mm 89 mm

C 108 mm 108 mm 108 mm 108 mm

| | | | |
T T T T T

[

afag.com Handling technology HT Components linear 93



